“uyogediansed jo poJad o) , a2°0
o eC0 Hig= 100F PI9%= &6980 AL gZo
FA" RN Hig HO 99 086 0.8 LCEE gL
£9°E9 HL% ONV 9g G2LL 0BG AR A 10
6588 YN 9 L06EE e-9C LA

5B Li-0 %6 L0 %6 640 %5 69" %56 0 %6 BE( 400} 8
%6 L3 T Y%b Le T WE 308 %6 6401 %6 8L-G %6 6 0F BuNyseosddy
%6 L6 Z8 %5 L6 T8 %6 690 68 %6 6808 %G GL 6L %6 65-05 gabue] v §
%0026 %0016 TLOL-06 _E_E am %004-9€ %001 E 5p58IX] -

15IS ]

%6 LE0 5667-001 5662001 6662 001 6662001 400G} §
W6 8L %0 £'805-00€ ¥'80E-00¢ 9°9¢£-00¢C 9°GEC-00E Rupjoeosddy
W6 P %0°6L | 6 L6CF 80T 1'Z6T-G 80¢ 1'Z6E69CE | 9°68C-1°GLT whiret ug |
%001-%0°6Z 05 Z6E | Q06§26 006" 2°G2E Spaanxy

566200 6662001 6662 001 6662001 400j4
L 9FE00E 6'EFE-00C LZGE00E L ZYE00E buyseosddy
B VI TIFE L'2GEVFE 1ZTEERTGE | 9°G8EE€TLE yebiey ug |
005°G2€ 005-8°Z5¢ 005-8'76¢€ 005-1"G8E Speadxy




0= Jo0J4
S'= yoeouddy
T=138818] uQ
G'T =5PoadIxg
0= 4004

T= yoeoaddy
G'T=188.e UD
Z = Speai]

0= 100|4
S T= yaeoiddy
¢=198iel up
9 = Spasx3

0= 40014
6= yaeoiddy
g =1adiel up
.8 =5paadx]

O=400[4
T=Yreoiddy
Z=1981e] up

£ = Spa2Jx]

0= 1004
£=yoeoiddy
£=138Je} ug
¥ = spagsixg

0= 1004
€= Yoeoiddy
9= 1381e] uQ
Z1 =5pasix]

0=100[4
6= Yaeorddy

TT= 1881l U0

9T = 5paax3

0= 4100[4

T= yoeoiddy
7= 1281e] Up
£ = 5paaix]
0= J0o0ld

1= Yoeouddy
Z=1884e) UQ
£ = Spa’dk3y
0=Jo0(4
Z=Yoeouddy
g=138iel up
¥ = $pa9ix3

0= 100}4
£=ijae0.ddy
9= 1381e L uQ
Z1 = $paanx]
0= 100|4

£= Yyoeosddy
9=1a8.e}f uQ
ZT = Spaadx3

0= 100}4

6= Yoeolddy
ZT=19818L UD
" 91 =$povdx3

0= 4004
1= yoeouddy
Z=1=8ie] up
€ = 5paaoxy
(= 10014
T=Yoeouddy
7=13198.12] up
£ =Spasdx3
O=J00|4

= Yoeoiddy
g=1381e] uQ
t = Spasdx]

0=100]4

€= Yoeosddy
9=138J4ef up
7T = Spa3ox3
~ p=Joo|4

£= Yoeoaddy
9=1a81e] uQ
ZT = spaaix]

0=J0o0[4

6= yoeouddy
Zt=1381e1 UD
9T =spa’ag

~-9|q1ssod

‘sjulod
Yimouo
ssaidoud

snieis

9]qIssod
S1UI0d

Yimouo

$$3.1304d

SN1e3S




suepdeaaxg SIOYIEH YSIY

siejdwiang

O =J004

7 = yoeauddy
p=xadiE] up
G/ =5paaguy

0 = 400}4

9 = yaeouddy
¢ =335iel up
0T =5peadx3

J= JO0]d
T=12eo.dchy
g=1@84e) un
'/ =5pIaIRI
0= 100

g = Yoegiddy

G =351 U
JT=5paadn3

RS ST e R

0 = 190|3
g =yoeosddy
7 =1@8ieun,
L'ZY =5pRas3
D8
=13eaichy

o)

B
S

e o
il
wad
a

e

£=1f2e0.dchy
p=iadielud
C°Ff =SPIBIXI
G= J00|4

a = yaeouechy
C¢=za5ietun
JT = Spavixy

ﬁh,.ﬁﬂﬁ

0=Jdoog
g =yseouddy
T=z5ELup
§'TL = 5pa9sxa
G = 400|5

87 = yoesicldy

W@EIEL U sN1elS

SpPREHI

55213044

3

B|qissod
sjuiog

3 = 400

7 = Yaeoudddy

»=3adiei un

S'¢ =s5pasdxEy 552l mo-hﬁ_
Q= J00|4

g= yrsoldy

G =3l uD
= spa3IX3 snleis

ar
-

:_mua. puany

_w_n_mmom
sjui0d

2= 100

T = yaeoaddy

s=19848 ) W

gl = m_nmm_.uxw ssaa80.1d
0 = 109

g = yaeaudchy

afazl un

T =$paasxg sSNiels

s

{8






